SOUTH DAKOTA DEPARTMENT OF GAME, FISH AND PARKS BID TABULATION

Summary of Bids for: Asphalt Concrete Repairs and Asphalt Surface Treatment, Southeast South Dakota AST Package, Lewis and Clark RA, Springfield RA,

Sand Creek RA, Adams Nature Area, and Spirit Mound Nature Area; GFP Project No, LCRA20Pt, Spri20Pt, SanC20Pt, SpMd20Pt, OSE# G2119--06X/DEL

Bid Opening Date: April 18, 2019, 3:00 PM CDT

Lewis and Clark RA – LCRA20Pt	Bids Received:		Bituminous Paving, Inc.				
No. Item	Unit	Qty.	Unit Price	Amount			
1.00 Mobilization	LS	1	\$93,000.00	\$93,000.00			
1.01 Unclassified Excav.Digouts	CY	1,056.90	\$35.00	\$36,991.50			
1.02 Base Course	Ton	1,281.30	\$45.00	\$57,658.50			
1.03 Asphalt Conc. Comp. Type E2	Ton	979.5	\$170.00	\$166,515.00			
1.04 CRS-2P Asphalt for AST	Ton	373.7	\$750.00	\$280,275.00			
1.05 Type 2A Cover Aggregate	Ton	3,102.70	\$70.00	\$217,189.00			
1.06 Sweep and Pick-up Chips	SY	292,097	\$0.22	\$64,261.34			
1.07 Pavement Mark Paint White	LF	27,679	\$0.50	\$13,839.50			
1.08 Pave Mark Paint Handicap Sym.	Each	22	\$70.00	\$1,540.00			
1.09 Pavement Mark Paint White Arrow	Each	21	\$70.00	\$1,470.00			
1.10 Flagging	Hour	250	\$35.00	\$8,750.00			
1.11 Traffic Control Signs	Units	440	\$2.00	\$880.00			
1.12 Traffic Control, Misc.	LS	1	\$6,000.00	\$6,000.00			
1.13 2'Ø Corrugated Metal Pipe, F&I	LF	40	\$80.00	\$3,200.00			
1.14 Flared End Section, F&I	Each	2	\$500.00	\$1,000.00			
TOTAL BASE BID				\$952,569.84			

ALTERNATE 1 - FOG SEAL

No.	Item	Unit	Qty.	Unit Price	Amount			
1.1	SS-1h or CSS-1h for Fog Seal	Ton	77	\$1,000.00	\$77,000.00			
1.16	Sand for Fog Seal	Ton	25	\$10.00	\$250.00			
		TOTAL ALT	ERNATE 1		\$77,250.00			

TOTAL BASE BID and ALTERNATE 1 \$1,029,819.84

Sprir	ngfield RA – Spri20Pt	Bids Receiv	ved:	Bituminous Paving, Inc.					
No.	Item	Unit	Qty.	Unit Price	Amount				
2.00	Mobilization	LS	1	\$6,000.00	\$6,000.00				
2.01	Unclass. Excavation Digouts	CY	141	\$35.00	\$4,935.00				
2.02	Base Course Ton	Ton	145.5	\$50.00	\$7,275.00				
2.03	Asphalt Conc. Comp. Type E2	Ton	131.5	\$200.00	\$26,300.00				
2.04	Flagging Hour	Hour	25	\$35.00	\$875.00				
2.05	Traffic Control Signs Units	Units	220	\$2.00	\$440.00				
2.06	Traffic Control, Misc.	LS	1	\$3,000.00	\$3,000.00				
		TOTAL BA	SE BID		\$48,825.00				
Sand	Creek RA – SandC20Pt	Bids Receiv	ved:	Bituminous	Paving, Inc.				
No.	Item	Unit	Qty.	Unit Price	Amount				
3.00	Mobilization	LS	1	\$8,000.00	\$8,000.00				
3.01	Unclassified Excav. Digouts	CY	102.7	\$35.00	\$3,594.50				
3.02	Base Course	Ton	148.2	\$50.00	\$7,410.00				
3.03	Asphalt Conc. Comp. Type E2	Ton	51.3	\$200.00	\$10,260.00				
3.04	SS-1h or CSS-1h for Fog Seal	Ton	0.6	\$1,000.00	\$600.00				
3.05	Sand for Fog Seal	Ton	5	\$10.00	\$50.00				
3.06	CRS-2P Asphalt for AST	Ton	2.6	\$800.00	\$2,080.00				
3.07	Type 2A Cover Aggregate	Ton	21.5	\$70.00	\$1,505.00				
3.08	Sweep and Pick-up Chips	SY	1,792	\$0.22	\$394.24				
3.09	Flagging	Hour	15	\$35.00	\$525.00				
3.10	Traffic Control Signs	Units	220	\$2.00	\$440.00				
3.11	Traffic Control, Misc.	LS	1	\$3,000.00	\$3,000.00				
		TOTAL BA	SE BID		\$37,858.74				

Spirit Mound NA – SpMd20Pt	Bids Recei	ved:	Bituminous	Paving, Inc.			
No. Item	Unit	Qty.	Unit Price	Amount			
4.00 Mobilization	LS	1	\$11,000.00	\$11,000.00			
4.01 SS-1h or CSS-1h for Fog Seal	Ton	0.7	\$1,000.00	\$700.00			
4.02 Sand for Fog Seal	Ton	5	\$10.00	\$50.00			
4.03 CRS-2P Asphalt for AST	Ton	3.2	\$800.00	\$2,560.00			
4.04 Type 2A Cover Aggregate	Ton	26.4	\$70.00	\$1,848.00			
4.05 Sweep and Pick-up Chips	SY	2,979	\$0.22	\$655.38			
4.06 Pavement Marking Paint, White	LF	446	\$0.45	\$200.70			
4.07 Pavement Mark Paint, Handicap	Each	1	\$70.00	\$70.00			
4.08 Flagging	Hour	15	\$35.00	\$525.00			
4.09 Traffic Control Signs	Units	440	\$2.00	\$880.00			
4.10 Traffic Control, Misc.	LS	1	\$5,000.00	\$5,000.00			
TOTAL BASE BID \$23,489.08							

Adams NA – SpMd20Pt	t Bids Received: Bituminous Paving, Inc.							
No. Item	Unit	Qty.	Unit Price	Amount				
5.00 Mobilization	LS	1	\$12,000.00	\$12,000.00				
5.01 Unclassified Excav. Digouts	CY	24.4	\$35.00	\$854.00				
5.02 Base Course	Ton	35.1	\$50.00	\$1,755.00				
5.03 Asphalt Conc. Comp. Type E2	Ton	12.2	\$200.00	\$2,440.00				
5.04 SS-1h or CSS-1h for Fog Seal	Ton	1.1	\$1,000.00	\$1,100.00				
5.05 Sand for Fog Seal	Ton	5	\$10.00	\$50.00				
5.06 CRS-2P Asphalt for AST	Ton	5.2	\$800.00	\$4,160.00				
5.07 Type 2A Cover Aggregate	Ton	42.6	\$70.00	\$2,982.00				
5.08 Sweep and Pick-up Chips	SY	5,311	\$0.22	\$1,168.42				
5.09 Pavement Marking Paint, White	LF	530	\$1.00	\$530.00				
5.10 Pavement Mark Paint, Handicap	Each	2	\$70.00	\$140.00				
5.11 Flagging	Hour	15	\$35.00	\$525.00				
5.12 Traffic Control Signs	Units	220	\$2.00	\$440.00				
5.13 Traffic Control, Misc.	LS	1	\$5,000.00	\$5,000.00				
	TOTAL BA	ASE BID		\$33,144.42		_		-
					 		_	

	Bituminous Paving, Inc.		
TOTAL COMBINED BASE BID	\$1,095,887.08		
TOTAL COMBINED BASE BID and ALTERNATE 1	\$1,173,137.08		